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i) General Awareness

Subiject to the provisions of Section 18,
no person shall drive a transport vehicle
in any public place under the age of

(A) twenty years
(B) fifteen years
(C) sixteen years
(D) eighteen years

Where the application is for a license
to drive a transport vehicle a driving
certificate is preferred issued by

(A) primary school
(B) state school

(C) central school
(D) driving school

Where the applicant does not pass the
driving test, he may be permitted to
reappear for the test after a period of

(A) one month
(B) fifteen days
(C) seven days
(D) twenty days

The applicant does not pass the test
even after three appearances, he shall
not be qualified to re-appear for such
test from the date of last such test
before the expiry of a period of

(A) thirty days
(B) ninety days
(C) one year
(D) sixty days

5.

In the case of a license to drive a
transport vehicle, it will be effective for
a period of

(A) tenyears
(B) seven years
(C) five years
(D) three years

Accident arising out of the use of a motor
vehicle or motor vehicles the identity
whereof cannot be ascertained in site
of reasonable efforts for the purpose
means

(A) grievous hurt

(B) terms of the policy

(C) hit and run motor accident
(D) claims tribunal

An application may be made — for
compensation arising out of an accident
of the nature specified in Sub-Section (1)
of Section

(A) 135
(B) 145
(C) 165
(D) 155

Whoever drives a motor vehicle in
contravention of the speed limits shall
be punishable referred to in Section

(A) 102
(B) 122
(C) 112
(D) 132
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10.

11.

12.

Driving by a drunken person shall
be punishable for the offence with
imprisonment or with fine or both when
he has, in his blood, detected in test by
a breath analyzer alcohol exceeding

(A) 30 mg per 100 ml. of blood
(B) 50 mg per 100 ml. of blood
(C) 20 mg per 100 ml. of blood
(D) 40 mg per 100 ml. of blood

The learners vehicle must be display the
L board on front and rear of the vehicle
of size 18 cm height and width is of

(A) 18 cm
(B) 16 cm
(C) 14cm
(D) 20cm

Which is the cleanest village in India ?
(A) Mawlynnong

(B) Khonoma

(C) Sandakphu

(D) Moirang

The learners vehicle “L” board displayed
on front and rear of the vehicle with
which of the background colour ?

(A) red

(B) yellow
(C)
(D)

green
white

13.

14.

15,

16.

Forthe driving as the licence requirement
a medical certificate can be obtained in
the prescribed form such as

(A) Form 2 and 2A
(B) Form 3 and 3A
(C) Form 4 and 4A
(D) Form1 and 1A

What is the largest river island in the
world ?

(A) Marajo
(B) Majuli
(C) Bananal
(D) Margarita

The learners vehicle must be display the
L board on front and rear of the vehicle
with the letter “L” height is 10 cm and
the width is

(A) 9cm

(B) 8cm

(C) 10cem

(D) 7cm

No medical certificate is required for
obtaining a licence to drive a non transport
vehicle till the applicant attains the
age of

(A) 40 years
(B) 45 years
(C) 50 years
(D) 55 years
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(A) 4099
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17.

18.

19.

20.

Robert Mugabe is associated with which
country ?

(A) Kenya
(B) Tanzania
(C) Libya
(D) Zimbabwe

The learners vehicle must be display the
L board on front and rear of the vehicle
with the colour of the letter “L” is

(A) red

(B) yellow
(C) black
(D) green

The mandatory instruction, such as the
“turn left”, or indicate a route available
only to particular classes of traffic is
generally given by

(A) red rings
(B) blue circles
(C)

(D)

red triangles

black triangles

Who among the following is the founder
of Facebook ?

(A) Bill Gates

(B) Mark Zuckerberg
(C) Steve Jobs

(D) Sundar Pichai

21z

22.

23.

24,

A0 0T 0 0 0 O

Motor vehicle insurance certified is a
legal requirement as per Motor Vehicle
Act

(A) 1988 (Sec. 144 and 146)
(B) 1988 (Sec. 142 and 144)
(C) 1988 (Sec. 140 and 142)

(D) 1988 (Sec. 146 and 147)

An appropriate driving licence is a legal
requirement authorising to drive any
motor vehicle as per the Section 3 of
MV Act

(A) 1958
(B) 1968
(C) 1938
(D) 1988

Who was the founder of the Swatantra
Party ?

(A) Motilal Nehru

(B) Chitaranjan Das

(C) C. Rajagopalachari

(D) M. N. Roy

The comprehensive insurance policy
can renewed annually through India in
advance of

(A) two months
(B) six months
(C) one month

(D) four months
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(A) 1988 (4TI 144 3 146)
(B) 1988 (YT 142 37 144)
(C) 1988 (URT 140 3R 142)
(D) 1988 (AT 146 3K 147)

3fera grefem vty s faftes savgswar
2 I Hier ared iy $r
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(A) 1958
(B) 1968
(C) 1938
(D) 1988

oA UTef % HEATI i o 2
(A) HIdT TEE

(B) Tuats g

(C) ©t. TS

(D) WH.TH. 1T

ST SfHT UTTerel] shT Fefieh WG STy
ek SATE | B ol € |

(A) 4R
(B) B:TE
(C) THuR
(D) IR =R
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25.

26.

27.

28.

What you must not do, e.g. you must
not exceed 30 mph, no vehicles over
the height shown may proceed, tell you
the sign

(A) red rings or circles
(B) black triangles
(C) green rectangles

(D) green triangles

A motor driving licence issued in a state
(A) Is valid throughout India

(B) Is valid throughout World

(C) Is valid only in the State of issue
(D) Is valid only in his jurisdiction

Regional Transport Authority grant
temporary permit to be effective for a
limited period which shall not, in any
case exceed ?

(A) one month
(B) two months
(C) four months
(D) six months

The sum total of the length of any
vehicle and its attached trailer or trailers
shall not exceed

(A) 23 metres
(B) 20 metres
(C) 21 metres
(D) 24 metres

29.

30.

31.

32.

R0 O O

No person shall drive or cause or
allow any other person to drive a stage
carriage or contract carriage, unless the
person so driving or allowed to drive,
holds a driver's

(A) badge

(B) learners licence
(C) first aid kit

(D) permit

No goods vehicle when carrying any
cattle or any animal shall be driver at a
speed in excess of

(A) 20 km/hour
(B) 30 km/hour
(C) 24 km/hour
(D) 40 km/hour

Where is the Southern Naval Command
of India located ?

(A) Chennai

(B) Vishakapatnam

(C) Goa

(D) Kochi

Figure shows the mandatory sign
(M5) of

®

(A) no entry
(B) compulsory stop
(C) venhicles prohibited in both directions

(D) compulsory give way
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(A) 20 . Hi./52

(B) 30 .. /me

(C) 24 fF.dt. /a1

(D) 40 f.t./me
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(A) =3

(B) forsmam-m

(C) T

(D) =i
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(A) way fomy

(B) 3fHard =

(C) i femmai ¥ arei W ufdsy
(D) Afar ®a § T 2
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33.

35.

36.

Who is the current Chief of Naval Staff ?
(A) Sunil Lamba

(B) R. K. Dhowan

(C) Karambir Singh

(D) Arun Prakash

Figure shows the mandatory sign
(M9) of

(A) horsecarts prohibited
(B) bullockscarts prohibited
(C) cow carts prohibited
(D) buffalocarts prohibited

Which among the following leaders has
been conferred the Confucius Peace
Prize for promoting World Peace ?

(A) Nicholos Maduro
(B) Hafiz Al Assad
(C) Hugo Chavez
(D) Hun Sen

Figure shows the mandatory sign
(M4A) of

®

(A) no entry
(B) vehicle prohibited
(C) overtaking prohibited

(D) one way sign

37.

38.

39.

40.

Who is the Governor of the state of
Nagaland ?

(A) B.D. Mishra
(B) Jagdhish Mukhi
(C) Tathagata Roy
(D) R.N. Ravi

Figure shows the informatory sign of

(A) inter section
(B) narrow road
(C) no through
(D) no through side road

ISRO Chairman K. Sivan belongs to
which state ?

(A) Pondicherry
(B) Kerala

(C) Tamil Nadu

(D) Andhra Pradesh

Figure shows the informatory sign of

(A) no through road

(B) no through side road
(C) inter section

(D) narrow road



0 00O A R A

33.

34.
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36.
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(A) was fHue

37.

38.

39.

40.
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(A) &t & feen

(B) AT gt

(C) qYUFTd TH

(D) &R &.

Tg T T Tk auitar &

E

(A) =T

(B) @i &g
(C) TaT=&El
(D) wTEE U &l

T S g %, G e T &
T © 2

(A) uifeady

(B)

(C) dficrrg

(D) 3Ty

78 o gerTeTs Gehd guitar

(A) Heft T
(B) ©T3s T &
(C) e

(D) wehri HgH



MKG-XXIX/GENDHMVM/1T/02

ii) General Intelligence and Reasoning Ability

41.

42.

43.

44.

45.

-12-

7845 — ? = 8461 — 3569

(A) 2593 (B) 2773

(C) 3569 (D) None of these
8756 x 99999 = ?

(A) 796491244
(C) 875591244

(B) 815491244
(D) None of these

If x and y are negative, then which of
the following statements is/are always
true ?

l. X+ vy is positive
Il. xy is positive
Ill. x—y is positive
(A) 1only (B) Il only
(C) Il only (D) land lll only

A student was asked to solve the fraction

Z+11 of g
3 2 3

2+1?
3

By how much was his answer wrong ?
1

B = -

B) z5

(D) None of these

and his answer was %

(A) 1

4 E*—g°
=g and bzﬁ,then m is

7
®) 5z

(D) None of these

46.

47.

48.

49.

50.

f2=x+ 11 , then the value of x
is 1+
3+ L
4

12 13
A 53 ®) 17

18 21
) —= D) =20
(C) = (D) =
lfa+b=5and3a+2b=20,then3a+b
will be
(A) 10 (B) 15
(C) 20 (D) 25
The sum of two numbers is 22. Five times
one number is equal to 6 times the other.
The bigger of the two numbers is
(A) 10 (B) 12
(C) 15 (D) 16
The product of two numbers is 120 and
the sum of their squares is 289. The
sum of the number is
(A) 20 (B) 23
(C) 169 (D) None of these
A class starts at 10:00 a.m. lasts till

1:27 p.m. Four periods are held during
this interval. After every period, 5 min.
rest are given to the students. The exact
duration of each period is

(A) 40 min.
(B) 48 min.
(C) 53 min.
(D) 51 min.
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3O TTeTd & 4T ? ‘ () 20 (B) 22
1 (C) 169 (D) 38 ¥ IS &
(A) 1 (B) 55 _
1 _ 50. Teh =&l 10:00 SISt UTd: TR Bl & 37K
T = (D) T7H § 1E 1:27 A e Biell & | 39 a0 § =N
Hifere o @ | I ditas e 5 fime
84 s b 15 ~¢C —a® 1 =1 g foenfat = s ? | velw
b 5 E-_~1_. 02+a2=' Hfifae it g a2
1 7 (A) 40 fie
(A) 7 (B) & (B) 48 fiFe
3 : (C) 53T
© = (D) T & IS O 51
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51.

52

53.

55.

-14-
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Choose the correct alternative.
Magazine : Editor : : Drama : ?
(A) Director (B) Player

(C) Actor (D) Manager

If the price of 6 toys is Rs. 264.37, what
will be the approximate price of 5 toys ?

(A) Rs. 140 (B) Rs. 100
(C) Rs. 200 (D) Rs. 220

36 men can complete a piece of work in
18 days. In how many days will 27 men

complete the same work ?
(A) 12 (B) 18
(C) 22 (D) 24

At the rate of 8% % p.a. simple interest,

a sum of Rs. 4,800 will earn how much
interest in 2 years 3 months ?

(A) Rs.796
(B) Rs. 816
(C) Rs.918
(D) Rs. 956

56.

S57.

58.

50.

60.

The simple interest at x% for x years
will be Rs. x on a sum of

100

(A) Rs.x (B) Rs. r—

100
(C) Rs. 100x (D) Rs. [?]

Albert invested an amount of Rs. 8,000
in a fixed deposit scheme for 2 years at
compound interest rate 5 p.c.p.a. How
much amount will Albert get on maturity

of the fixed deposit ?
(A) Rs. 8,600 (B) Rs. 8,620
(C) Rs. 8,840 (D) None of these

The length of a rectangular hall is 5 m
more than its breadth. The area of the

hall is 750 m?. The length of the hall is
(A) 15m (B) 225m
(C) 25m (D) 30m

If the length of the diagonal of a square
is 20 cm, then its perimeter must be

(A) 1042cm  (B) 40cm
(C) 402cm (D) 200cm

Choose the missing term out of the
given alternatives.

ADVENTURE, DVENTURE, DVENTUR, ?,
VENTU

(A) DVENT

(B) VENTURE
(C) VENTUR
(D) None of these



51.

52.

58.

54.

55.
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) ()

3 2
A) 7 ® 3
4 1
©) 3 D) 3
Tl fawe g |
TSI« TUTE : ; AEF : ?
(A) Frewe (B) faered
(C) ¥ (D) wgH
It 6 faei=i 1 o9 %. 264.37 2, 4t
5 Rttt a1 s3gfa gea fohemr arm 2
(A) %140 (B) %.100
(C) %.200 (D) %.220

36 aTreHt foret w1 w1 18 f&A1 § qu o
goFd B, a1 27 JTeHT 36 &l =i fovaa fe
T g i 2
(A) 12
(C) 22

(B) 18
(D) 24

Bé%uﬁaﬁﬁmmmmatﬁ
%. 4,800 1 g W 2 9§ 3 wEA A
ToramT =T forer 2

(A) %.796

(B) %.816

(C) . 918

(D) %. 956

56.

S7.

58.

59.

60.

MKG-XXIX/GENDHMVM/1T/02

X% I W x a9 & fore forelt a=fan =
IR0 SIS &, X 2, A 98 SAsT o & 2

100

(A) T x By =

o <[22

I 1 5% WAy ol Tehgig o418 & T
2 a1 & forw %. 8,000 it &=t i U
graft s g 8§ faw e el
ferertt aftaeraan afyr faertt 2

(A) %. 8,600 (B) %. 8,620
(C) %. 8,840 (D) 3 ¥ hIE AL

U SRR it i s saeht e ¥
5 Tt 317 & | B 1 &% 750 1 Hiex
2, A1 =i 1 wers fopat 2 2

(C) X 100x

(A) 154 (B) 225t

(C) 254 (D) 30+t

Ife ek =t o forpol ) &arg 20 Gt 2, Y
3ot aftfafa faeat anft 2

(A) 1028Ht  (B) 40t

(C) 40y2ddt (D) 200

fau 7o forsredt & & ruan g & g4 |

ADVENTURE, DVENTURE, DVENTUR, ?,
VENTU

(A) DVENT
(B) VENTURE
(C) VENTUR

(D) 379 ¥ F13 T
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61.

62.

63.

65.
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Choose the missing term out of the
given alternatives.

2A11, 4D13, 12G17, ?
(A) 36119
(B) 36J21
(C) 48J21
(D) 48J23

Find out the term which does not fit into
the series.

1CV, 5FU, 9IT, 15LS, 170R
(A) 5FU (B) 15LS
(C) 9IT (D) 170R

If FLARE is coded as 21, 15, 26, 9, 22
then how would BREIF be coded in the
same language ?

(A) 5,37, 11,19, 13
(B) 25,9,22, 21,18
(C) 13,19, 11,37, 5
(D) 25,9, 22, 18, 21

Chair : Furniture : : Shoe : ?
(A) Socks

(B) Footwear

(C) Leather

(D) None of these

Monday : Saturday : : Thursday : ?
(A) Sunday

(B) Tuesday

(C) Wednesday

(D) Friday

66.

67.

68.

69.

70.

Tuberculosis : Lungs : : Cataract : ?
(A) Ear

(B) Throat

(C) Skin

(D) Eye

Import : Export : : Expenditure : ?
(A) Deficit

(B) Revenue

(C) Debt

(D) Tax

Cardiology : Heart : : Zoology : ?
(A) Insects
(B) Animals
(C) Plants
(D) Germs

January : November : : Sunday : ?
(A) Monday

(B) Tuesday

(C) Friday

(D) Saturday

Tennis is related to Court in the same
way as Boxing is related to

(A) Pool
(B) Ring
(C) Ground
(D) Stadium
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61.

62.

63.

64.

65.

= b 7

fau e faepeat § & Sufeya ve =i 94|
2A11, 4D13, 12G17, ?

(A) 36119

(B) 36J21

(C) 48421

(D) 48J23

36 TS 1 T Il 36 3 o [oT¢ HE e ¢ |
1CV, 5FU, 9IT, 15LS, 170R

(A) 5FU (B) 15LS

(C) 9T (D) 170R

If§ FLARE &1 %2 21, 15, 26, 9, 22 dl
3Ht %K W1 H BREIF &4 forar smom 2

(A) 5,37, 11,19, 13
(B) 25,9,22 21,18
(C) 13,19, 11,37, 5
(D) 25,9, 22, 18, 21

EIR T S |
(A) HisT

(B) FeTH

(C) =meT

(D) ¥ ¥ FIS TE
W:m::ﬁm:?
(A) Taam

(B) WTAR

(C) Fgar

(D) HAR

66.

67.

68.

69.

70.
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&I m . : Wifeenfere : 2

(A) FH
(B) T
(C) =
(D) @@

o fata i = 2
(A) =1
(B) 3™
(C) 38R
(D) =t

FHITSAAN : §SF : : SIS : 2
(A) 2
(B) SR
(C)
(D) T

St ; T9e ; ; YA : ?
(A) EHaR
(B) WIeEaR

(C) TR
(D) wifFam

T =1 I ¥ I Tey B S SifaaT =7
g2

(A) I
B) far
(C) s
(D) wfemm
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lz

2

73.

74.

5.

Gravity is related to pull in the same way
as Magnetism is related to

(A) Repulsion
(B) Separation
(C) Attraction
(D) Push

Choose out the odd one.
(A) Medium
(B) Average
(C) Mediocre
(D) Terrible

Choose the group of letters which is
different from the others.

(A) CFIL
(B) PSVX
(C) JMPS
(D) ORUX

Choose the odd one out.
(A) A
B) O
(C) U
(D) Y

Find the odd one.
(A) EDCBA
(B) PONML
(C) UTSRQ
(D) YXwWvz

76.

77.

78.

79,

80.

0000 00O O A

Find the missing character.

(=) (%) @
(A) 20 (B) 25

(C) 50 (D) 75
Reduce 128353 to its lowest terms
9 5
A 5 B) 13
7 9
©) = (D) 13
3
[0.05 0.25)
——t—| =7
0.25 0.05
(A) 139.4 (B) 140
(C) 140.6 (D) 143.9
. .. 532x56+532x44
Simplify > =
(7.66)° — (2.34)
(A) 7.2 (B) 85
(C) 10 (D) 12
1 2 4 1 1 3
2 a5 85 5. 4
5 & 1 5§ 2 is simplified to
_+___+ _____
2 3 3 3 5 5
3 10
A -75 (B) —3
(C) -2 (D) 1



71.

72.

73.

74,

75.
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1 9E qaY TR
(A) Tasrdm
(B) feemma
(C) ATy
(D) et

TECATHYU 1 S GO WieH ¥ B gashe

forema ug =t 9 |
(A) Hifeam

(B) T

(C) wifears
(D) e

faw T s1erl o g ¥ foda e 1 wH |
(A) CFIL
(B) PSVX
(C) JMPS
(D) ORUX

Tomma s1em = g4 |
(A) A
(B) O
(€) U
(D) Y

foETa = g |
(A) EDCBA
(B) PONML
(C) UTSRQ
(D) YXWVZ

76.

77.

78.

79.

80.
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T T H |

© (9) @
(A) 20 (B) 25
(C) 50 (D) 75

128352 1 v Brer S T & 7
238368

3 5
5 ®) 13
7 9
© = ©) 13

(0.05 0.25J3 =
+ =7

0.25  0.05
(A) 139.4 (B) 140
(C) 140.6 (D) 143.9
5.32x 56 +5.32x 44 g ¥ |

(7.66)° — (2.34)
(A) 7.2 (B) 85
() 10 (D) 12

1 2 41 1 3
"2 35 3754 -
AT TEEE O G et
_+_.__+ _____

33 B35 "5

3 10

(A) 0 (B) 3
(C) -2 (D) 1
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81.

82.

83.

00 OO RO OO O

ili) Arithmetical and Numerical Ability

Area of a semicircle whose circumference is
22cmis (Use T :2—72]

11 2
A) — sq. unit
(A) 4sq units

(B) % $Q. units

(C) 1—21 sQ. units

(D) ﬁ&% sqQ. units

The original price of a kurta was Rs. 700.
It was decreased by Rs. 50. What is the
percentage decrease in the price of the
shirt ?

(A) 7%

(B) 8%

(C) 7.14%

(D) None of these

The cost of a T.V. was increased by
20% and then decreased by 5%. The
percentage increase in the original cost is

(A) 15%
(B) 14%
(C) 14.5%
(D) None of these

The cost price of an article which is sold
for Rs. 220 at a loss of 12% is

(A) Rs. 260
(B) Rs. 250
(C) Rs. 240
(D) None of these

85.

86.

87.

88.

89.

Mr. Shiv saves Rs. 75 by getting a
discount of 15% on a textbook. The
amount he paid to buy the book is

(A) Rs. 500
(B) Rs. 425
(C) Rs. 475
(D) None of these

Four percent more is gained by selling
a table for Rs. 180 than by selling for
Rs. 175. The cost price of the table is

(A) Rs. 125
(B) Rs. 150
(C) Rs. 160
(D) None of these

In an election a candidate got 10000
votes which is 25% of the total votes,
then the total number of votes is

(A) 2500 (B) 40000
(C) 25000 (D) 4000

A student has to score 50% marks to
pass. He gets 100 marks and yet fails by
50 marks. The maximum marks should be

(A) 150 (B) 250
(C) 300 (D) None of these

Mr. Xand Ms. Y are friends. The probability
that both will have same birthday in a
non-leap year is

2 364
(A) 365 (B) 365
& L D) N f th
(C) 365 (D) None of these
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82.

83.
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iiil) TETIUTAIE Ua EEaTHe arad

U Hga I gy 22 9wt 7, a1 35

() 5 e
®) L =
(C) gaﬁw&

() % =zt

T Fell I TRATIH G €. 7007 | 3TH
%. 50 1 e &1 STl &, T Hod H &1 S /e
%1 gfda R 2 2

(A) 7%

(B) 8%

(C) 7.14%

(D) T @ S e

U el F Hed H IR 20% i gy H
STt & TR 398 5% =t &t 3t st 2, 4t
et Hea § et wfowra F gfa g 2
(A) 15%

(B) 14%

(C) 14.5%

(D) 378 & IS T

12% ht B HE9 %. 220 1 o=h 72 forelt
Feg ht AT Yo I =1 B 2

(A) %.260

(B) %.250

(C) %.240

(D) ¥ & 1% e

85.

86.

87.

88.

89.

" (C) 25000

#ft. g =it v s Tl | 15% F
e firerdt @ 3ft 38 =, 75 i 5= 2l 2,
@ oft. fora =1 e @lier & fore foraht
Tl g 9T 2

(A) ¥.500

(B) %. 425

(C) %.475

(D) T & IS T

TH ST HE 175 F ™F T & 180 |
ST § 4% 1 AT e e 2, dt 29
1 T eI T 2

(A) ®. 125

(B) %. 150

(C) %. 160

(D) 398 | IS T

forelt g7ma 7w sefiear = 10000 A2
it it o6 et die &1 25% @, i arel
Fel HEAT foherl 8 2
(A) 2500 (B) 40000

(D) 4000

us foarneff =t a9 & o 50% 1%
T1fey | 38 100 3% fie € 3 38 50
37 ¥ %A B a1 B, O Aftepan 7%
foraT 2 2

(A) 150 (B) 250

(C) 300 (D) T & IS TR
ot X G, Y I IR T | T IR I
T 2F1 = 5 T35 T & 2R TR B
®) ®) o

(C) ég (D) =9 & 13 7=
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90.

1.

92.

93.

3 chairs and 2 tables cost Bs.700 and
5 chairs and 3 tables cost Rs. 1,100.
The cost of 2 chairs and 2 tables is

(A) Rs. 700
(B) Rs. 600
(C) Rs. 650
(D) None of these

In a triangle ABC, A = x°, B = 3x°,
C =y° and 3y° — 5x° = 30° then the
triangle is

(A) Obtuse angled
(B) Right angled
(C) Acute angled
(D) None of these

Mr. Sonu can row down stream 20 km in
2 hours and upstream 4 km in 2 hours.
Speed of water current is

(A) 6 km/hr
(B) 4 km/hr
(C) 5 km/hr
(D) None of these

A fraction becomes g if 1 is added
to both numerator and denominator.

However if 5 is subtracted from both
numerator and denominator it becomes

g , the fraction is

aneld g 12
A) 3 B) 3
15
(C) - (D) None of these

94.

95.

96.

97.

The sum of the numerator and the
denominator of a fraction is 4 more
than twice the numerator. If 3 is added
to each of the numerator and the
denominator, their ratio becomes 2 : 3.
The fraction is

6
® 713 ® <
5 5
©) 7 © 4

On selling a tea set at 5% loss and a
lemon set at 15% gain, a crockery seller
gains Rs. 7. If he sells the tea set at 5%
gain and a lemon set at 10% gain, he
gains Rs. 13. The actual price of the tea
setis

(A) Rs. 250
(B) Rs. 100
(C) Rs. 150
(D) None of these

Father's age is three times the sum of
ages of his two sons. After 5 years his
age will be twice the sum of his 2 sons
age. The present age of him is

(A) 45 years
(B) 50 years
(C) 60 years
(D) None of these

A die is thrown twice. The probability of
getting 5 atleast once is

A %e ® a6
(C) 1%5 (D) none of these
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Ife 3 FHT 3R 2 2ot &1 4o &. 700 a1
5 Fff 3fit 3 a1t 1 YeT %, 1,100 7, A
2 FHf 37t 2 21t 1 e fovan & 2
(A) %.700

(B) %. 600

(C) %. 650

(D) ¥ § i3 el

g foreft BIgst ABC #, A = x°, B = 3x°,
C=y°3ﬂ'{3y°—5x°=30°%,?ﬁagaa'-lm
Frvget & 2

(A) 3ferEsRr

(B) HHHIT

(C) =TI

(D) 9 & g &

off. T 7t <t T o T 2 1S H 20 R A
3 G % faudia 2 92§ 4 T35 ff. e =en
TehaT 8, 1 981 it g i 9 e R 2

(A) 6 T/ e
(B) 4 T/ =a
(C) 5fk.dt./ua
(D) 78 & s 7

qmﬁam%maﬂtmﬁ‘lﬁsﬁw
g = ?rmm%aaﬁamaamaﬂxaﬁ
aﬁsaaﬁmsrrqa’tae B AT ®,
ELAEER

11 13
A 5 ® 5

(C) L (D) T ¥ g T

4.

85.

96.
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forelt forr o o791 ST =X = AT 31 6 g0
T4 e | 3R s d 3 e
WA SR 2: 3 Il e, Al fE?

6

(A) 75

5
©) 15

(B)

| cn|u1

(D)

U 9 82 H 5% i &I 3R o9 T
H 15% % TN & 1Y o= R TRt
THMER I &. 7 FH 4 BT 2 | AR @
=TT U2 il 5% T R 0T U2 I 10%
ATV % 91y J9aT §, df 38 %.13 T A
T BIAT 2, 9 =19 B I Al 5ed &
(A) %. 250
(B) %. 100
(C) %. 150

(D) T8 & IS 7

foren =t 3@ 3k a1 A1 1 3F % AN H
Ao R | 59 % wre 6t 39 IHH I
U1 it 3W % I FH QAU & S R, q@l
foyan <t w3 TR 2

(A) 4599

(B) 50T

(C) 60ad

(D) 3H & g e

97. U Ui 1 31 IR IV W FHA  FH TF 91

5 37T &1 TIfehar &
A %6

) 1%s

B) Y36
(D) 378 @ =i 7
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98.

The areas of two similar triangles are
9 cm? and 16 cm? respectively. The
ratio of their corresponding sides is

(A) 3:4 (B) 9:16

(C) 4:3 (D) 16:9

99. The sum of the probabilities of all elementary

100.

101.

102.

-24-

events of a random experiment is
(A) <1
(B) >1
(C) =1
(D) none of these

Volume of a right circular cone of base radius
r and height h is

(A) —nir?h

E11!'2h
3

If the radii of two circles are 8 cm and 6 cm
respectively, the radius of the circle
having area equal to the sum of the
areas of two circles is (n = 22/7)

(A) 100 cm (B) 10cm

(C) 7cm (D) 22cm

If the perimeter of a circle is half that of
the area of the circle, then radius of the
circle is

(A) 2 units
(C) m units

(B) 3 units
(D) 4 units

103.

104.

105.

106.

|00 O OO A R

The area of a triangle whose 2 sides
are 8 cm and 11 cm and the perimeter
is32cmis

(A) 8J30cm?
(B) 44J30cm?
(C) 30 cm?
(D) None of these

The length, breadth and height of a
room are 5m, 4 m and 3 m respectively.
The cost of white washing the walls of
the room and the ceiling of the room at
the rate of Rs. 7.50 per m? is

(A) Rs. 109
(B) Rs. 1009
(C) Rs. 1090
(D) None of these

The mean of first 10 natural numbers is
(A) 55

(B) 5.5

(C) 5050

(D) None of these

A die is thrown once, the probability of
getting a prime number is

(A)

(B)

W)= = N|—=

(C)

(D) None of these
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98.

99.

100.

101.

102.
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31 gAME B 1 &A% wae: 9 §.11.2
3R 16 8.0, 2, 35 dra e w
I1aTd e = 2
(A) 3:4
(C) 4:3

o Agfeed war 1 aft syae wfaaifaret
T UTTehe 1 T 2

(A) <1

(B) >1

C) =1

(D) % & IS &

U TG g H A foEh SAEm i
=ar I=E he

lrtr‘?h
3

(B) 9:16
(D) 16:9

(A)

-2— aroh
3

(B)

C) =

nr<h

(D) %nrzh

31 gt =i e waw: 891, e d .
?, A I g1 % %S ok 0T P TR
AaheraTe g i e frat gt 2

(r = 22/7)

(A) 1008H.  (B) 10&.Hi.

(C) 7 9.4 (D) 22 ..

afe foreft g it aftfufa 3ok dawer @1
3T |, o 39 g9 Y B e anft 2
(A) 25FTS (B) 3313

(C) n 3 (D) 43S

103.

104.

105.

106.
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Iz foreht e <t < god 8 E.4f1. ok
11 .11, & qur suht uitfufa 32 4.4t 2,
1 39 Pt &1 &awa fohaT B 2

(A) 830 H.Hi.2

(B) 430 #fi.2

(C) V30 @2

(D) T B =3 T

o FH o AaTE, Arers 3 S HE
5., 4 . 3w 3. B, A E. 7.50 ufa =0t
Y. 1 g Ll an ST Hifer H =
A | feRat ST St 2

(A) %. 109

(B) %. 1009

(C) %. 1090

(D) 378 § IS Tl

T 10 TSR SR 6 ATe TR 2 ?
(A) 55

(B) 5.5

(C) 5050

(D) ¥ & s e

e UTHT 3l Ueh ST Shehl ST &, Y 36 faret
IVTST G % 3 o gy a2 2

(A)

(B)

(©)
(D) =9 & 1S 7=

W= D= N =
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107.

108.

If probability of an event A is 0.05. What
is the probability of ‘not A’ ?

(A) 0.095
(B) 0.95
(C) 0.85
(D) None of these

A lot of 20 bulbs contain 4 defective
ones. One bulb is drawn at random from
the lot. What is the probability that this
bulb is defective ?

1
(A)

®) 55
&

© %

(D) None of these

109. Area of a sector of angle p(in degrees)

110.

-26-

of a circle with radius R is

P 2
® 150%™ (@) 7g5*2R
p P 2
©) 3g5*2™" () 726%™

The average age of a group of students
is 16 years. 12 more students with an
average age of 17 years have been
admitted to the class. The average age
of the class of 52 students is

(A) 16.23 (B) 16
(C) 17 (D) 18

111,

1 5 R

113.

R0 0O 0 O 0O R 0

A train runs at a speed of 28 kmph for
4 hours, at 30 kmph for 5 hours and
covers the remaining distance of 40 kms
in one hour. Average of speed of the
train per hour for the total distance it
travelled is

(A) 36 kmph

(B) 30.2 kmph
(C) 32 kmph

(D) None of these

Two taps can separately fill a tank in
12 minutes and 15 minutes respectively.
When the tank is empty, both taps are
opened simultaneously, then tank gets
filled in

(A) 23—0 min

(B) 8 min

(C) 6 min

(D) None of these

Rational number among the options is

V2

A) 3

&

B) V5-5
(©)

(D)

wle &=



OO0 00O O O O

107.

108.

109.

110.

-27-

T HREH A % B4 & g9EET 0.05 B, A
3Gk & B hl GHTSHAT fohaHt Bt 2

(A) 0.095
(B) 0.95
(C) 0.85

(D) ¥ & IS 7

20 &esl % U WY 4 Fos @UE o I
T S g ¥4 F e S 7, @t

3 s % GO B i foraH avEET R 2
® 5
®) 55
© %
(D) T & s T
T I % IV p o Toh &1 I Ao foraehl
B R?
(A) %Xﬂﬂz (B) 1gox2nﬂ

p :
(C) Sgoxznﬂ (D) 7—20-><21'[R2
Toreft e o TerenfofT = e Wy i ofEa
3T 169 & | I heft § 12 37 forenfof
1 g1ige 2rar & foreht sffaa sy 17 o
?, a1 52 faenfeia arer 3@ wan i ofa
3T 1 A 2
(A) 16.23 (B) 16
(C) 17 (D) 18

111,

112.

113.
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U Il 4 W2 § 28 Tt wfa ger it
nfg & it 55 # 30 fart ufer wer Fi v
¥ <ot 2 37K 40 Tt <t 9 g v =2
T gt et 2, < TSt 3R o 6 TS e
gt % foro 3meht sfvaa fa ot & 2

(A) 36 Tt ufe e
(B) 30.2 et wfd et
(C) 32 foreft wfe =ren
(D) T & WIS &

B 7T Weh 2ol 3T 3137 SFAST: 12 i
3 15 e i W osd € | 3fE 3R e I
1 e fear s A @t eht b e &
TS 2

(A) %O—ﬁq:ra

(B) 8Tz

(C) 6fe

(D) ¥ | =rE T

= el © & -1 U Ui e 2 2
(A)
(B)

(©)

(D)
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114. The ascending order of the numbers

115,

116.
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0|

1 3 4
(C) gig!?

(D) None of these

3)‘ X+y 3Y y+Z 32
Value of 3_y 3—2 3_x

A) sz P2

1
B) 22
©) 1

(D) none of these

If 5% + 5% +2 = 650, then x = ?
(A) 3

(B) 1

) 2

(D) None of these

Z+X
J =?

LT

118.

119.

120.

Value of ¥8%75 is

4
A) 2°
3
® 2°
©) 2
(D) 1

In a group of 65 people, 40 like cricket
10 like both cricket and tennis. The
number of people who like cricket only
but not tennis is

(A) 30
(B) 25
(C) 20
(D) 15

The number of diagonals in a hexagon is
(A) 3

(B) 6

(C) 9

(D) None of these

Given 4 flags of different colours, the
number of different signals that can be
generated using 2 flags keeping one
below the other is

(A) 12
(B) 6
(C) 8
(D) None of these
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114, a@mg,gaﬂtgaﬂmﬁmm

3 41
(A) gs?ls

~N | B
ol

1
(B) 3.

1 3
© 33

IES

(D) ¥ § =g A&

sx-x+y 3y y+Z 52 Z+X
w (5] () (5] -
A) 3x2~yz_22
1
B) ZpE
(C) 1
(D) 78 & IS el

116. IfG 5%+ 5X+2 =650, A x = ?
(A) 3
(B) 1
(C) 2

(D) 378 & 1S T
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118.

119.

120.
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Y075 T a2
4

A) 2°
3

B) 2'

©) 2

(D) 1

65 TRTI 2 Uah T9E |, 40 1 fohdhe 18 2,
10 1 forehe 3R 2 T Tee @ | foraw
ST i et fohohe TR B 7

(A) 30

(B) 25

(C) 20

(D) 15

U Y2 4 e faai 2 & 7

(A) 3

(B) 6

(C) 9

(D) T & HI§ T

ST - 37T Tl % IR T Ry ¥ |
% ST GE I T@FL 3l Sl 1 94N Fd
TC A3 YR # o Hoha 51T
ST T & 7

(A) 12

(B) 6

(C) 8

(D) & & rE TE
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121.

122.

123.

124.

125.

-30-

|00 OO A O

iv) Hindi Language and Comprehension
2=t v sy

IR FAAFARCTANT, T
R T AR a1 T TR EeT: T S
AR AR | TR Gfer =
Fame

(A) & =R (B) U1 wR

(C) 3 (D) T & =rE 7
‘ST’ I16% 1 Y foamre i |

(A) 31g + 3T (B) g +3

(C) ¥ +3@ (D) FH STl
g’ I8 1 1Y fau Fifse |

A) H9 + 3F

B) #t + 3%

C) 41+ 3%

D) 378 & IS TE

3@ Te oh GfYy 1 e ? 7

(A) o

(B) 3

(C) =TS
(D) T & g el
i 7 form TfYr &1 e 2 7

(A) =H

(
(
(
(

(B) &
(C) Tommt
(D) S & IS &l

126.

127.

128.

129.

130.

FHTE 1 G 379 B

(A) = i vl

(B) 1=l = A9

(C) werdteRTul

(D) 378 & &S T

TH H H & 5 Toha- T3l 1 IR R ¢
(A) @&

(B) =

(C) =W

(D) 37 § I3 &
T A g9
T uedt | .

(A) @

(B) dfa

(C) farem

(D) ¥ & IS e
udad 20 yEAHECR
(A) T3

(B) i

(C) awH

(D) T § I3 T

fore e T TR 158 ‘T BT € ¢
(A) deges (B) f&

(C) &= (D) 37t v

&I ATEaTIFHAT
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131.

132.

133.

134.

135.

31

= Ty Tu = e il |

(A) T THF TG

(B) W =l

(C) TSt

(D) 379 & I8 e

QAT THT T S ohE GHTE
TR E 7

(A) FH degey

(B) =0T acqey

(C) HYaH T

(D) T & IS T

fe o suert fore st & a1 € 2

(A) T&Fd 33

(B) =TT IR HRE

(C) e 3 gHi

(D) ¥ & IS T

5 gur % 94 ug § GeaEr 9IsE il
2,38 THTE FEd © |

(A) =

(B) fa1

(C) wgslife

(D) 79 & =IE T

fore e # 1el wE AEw A g § qE
F U HHAF BIG 8 ?
(A) FHEI

(C) 5=

(B) T
(D) wgelife

136.

137.

138.

139.

140.
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Ui FE1 % THE i T Fed & 2
(A) T=EE

(B) T=ad

(C) u=afe

(D) ¥ & HIg T

aE FHIfS |

Tl 510 i TR @ ¥ 70 g
(A) FTIF, SFEH

(B) gereh =, @ e

(C) gereht i T, T

(D) ¥ & HIg T

ST ITe% T 31 T |

(A) &

(B) el =T ATH

) f&=

(D) W=

T, T, 3, 3 I IS g a0 T
3T A1 U, =l 3 U 319, 31 379 3

aft 1 ST BT R | S by
FET ST R |
(A) o
(B) e
() I
(D) T8 & 1S 7
FT & HEaqUl 312 |
(A) B2 (B) TR
(C) ¥ (D) = A g 7



e e v =

MKG-XXIX/GENDHMVM/1T/02

141.

142.

143.

144.

145.
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&1 9 eq H viee 3R 31d 21 & gfeeat
T IOcHE 399 BT & | F'l
BT e |

(A) IHIEHER

(G IRIEAREIL

(C) FUHAHR

(D) 3 @ g TE

g gome 1 (q9) T I 3T A1 fanm

&, 997 gE0 vg IHE A1 v 7, 39
_ OHEwEd S |

(A) degey (B) HHETE
©) fa (D) wEshfe
AT HATH Fel BIdT 8 7

(A) STEl 9T ITHT | ST =hl THTEHT Wohe
EIRSID

(B) &l W wehfa 3 aea foramat s
IR o s

(C) SUHY 3R IUHH FI U &9 A fomn
ST 2

(D) T & FIS e

Frefafaa wfa e scmw Serm R ?
fireer T 2 91 yase 3 SR

&0 2 o wyERg B S |

(A) HEEOT (B) SodE

(C) ®9= (D) ¥4 & =13 7@
I FHR o T W © 7

(A) IR (B) dH

(C) [ (D) &

146.

147.

148.

140.

150.

FreafaRaa =i fra sre=mr 1
ISR & 7

T~ o |1 1 HIGehal SRR
e i 5, 3fe e S ¢

(A) FeATgsTE

(B) IWH

(C) T

(D) =afaw
T Y H UH Heaqu
IR |

(A) =

(B) U1

(C) Tifa

(D) T8 & IS T

fopareh o7 o &g Ul ST STEvIF & ¢
(A) TR3T (B) Tfifeer
(C) sfufifemt (D) <

H AR =BG ® AT 56
Yok =0T | 16 WS &Il & |
(A) =TS
(B) Searrel
(C) =
(D) =TH T IS e
FAfacie B4 o Wes =01 § fohe i
AR ?
(A) 11
(C) 10

B) 12
(D) 9
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151.

152.

153.

154.

155.

T | A FH T A B 3
AT |

(A) SEd SIST IR

(B) 3O+t STvaT fRoTaR GERI O a1 Wl
(C) Tor waetsr sEAmHt Hie T

(D) T & F1 T

TG Gehed © H U1 B §, 39 I
Heiferd wiehifa 1 gae farfa |

(A) ST =T g8 U8

(B) FeFHe H U

(C) 31 3a g3 A

(D) ¥ & =Ig TE

BT | AT Gerak 1 319 fafaw |
(A) IO AT (B) FEX Sl
(C) TS (D) T & HIS I

BT T BT geTek & a1 forfteaw |
(A) Tomet =

(B) =Tfies gaTaTE B

(C) 3@ AT

(D) T T IS T
TAIT 9155 1 79 R |

(A) Samadt

(B) =R gudl ST WEHET

(C) =mersht

(D) T & g T

156.

157.

158.

158,

160.
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Al o T F T FE T 2
(A) g

(B) gl

(C) &

(D) T8 & IS T

‘FTE’ I16¢ o 279 = fafa |
(A) e

(B) et

(C) =

(D) 378 @ =g T

‘SRR 7158 & faam =it fafew |
(A) SRR

(B) TETER

(C) JUER

(D) T § S

Foreeht a1rg o o o &Y 38 R FEd & 2
(A) STaTq

(B) rash

(C) wremsst

(D) 3 & s T

I G 9 F F H FTFED 2
(A) faem

(B) e

(C) wferet

(D) T T IS e
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v) English Language and Comprehension

ST W 3R Ay
Fill in the blanks with appropriate words from | Fill in the blanks supplying the appropriate
the choices/alternatives given below them. modals from the alternatives given below
them.
161. Does your wife object on
T"d;y:;k 166. you live long !
(") , (A) can
(B) to working
(C) work (B) could
(D) have worked (C) might
(D) may
162. You had better nothing.
(A) tosay 167. He pay you the loan he
(B) Saying owes you.
(C) say (A) oughtto
(D) said (B) dare
d
163. He wears a look today. &) s
(A) worrying (D) none of these
(B) worried _
(©) wony 168. Do not put off till tomorrow what you
do today ?
(D) to worry
(A) could (B) may
164. out of the window, she saw (C) can (D) might
a strange creature.
(A) looked 169. One obey one’s parents.
(B) looking (A) will (B) should
(C) having looked (C) shall (D) would
(D) look
| 3 170. He said he always come
165. Jouns is a good exercise for the when called.
(A) to swim (A) could
(B) swim (B) can
(C) swimming (C) may
(D) none of these (D) might

-34-
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Fill in the blanks with appropriate adjectives
or determiners from among the choices given
below them.

171. Ramis than me.
(A) elder
(B) eldest
(C) older
(D) oldest

172. Give me time to decide the
matter.

(A) alittle

(B) afew

(C) few

(D) none of these

173. Thisisthe technology in the
field of computer science.

(A) last
(B) later
(C) latest
(D) latter

174. | will meet you at the crossing.
(A) near
(B) next
(C) later
(D) none of these

175. He started learning piano at
the age of ten.

(A) a
(B) some
(C) much
(D) the

MKG-XXIX/GENDHMVM/1T/02

Fill in the blanks by choosing the correct
connector/conjunction from among the choices
given below them.

176.

177

178.

179.

180.

| have been to the hanging garden four
times, I won’t mind going
there again.

(A) but

(B) nevertheless
(C) however
(D) when

He was late it was raining
heavily.

(A) while
(B) after
(C) when
(D) because

much | tried, | could not help
him.

(A) though
(B) however
(C) as
(D) still

The police asked the suspect question
after question, he did not
open his mouth. -

(A) yet
(B) still
(C) however
(D) therefore

| was taking a bath somebody
rang the bell.

(A) while (B) as

(C) when (D) than
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Fill in the blanks in each of the following
sentences with the correct preposition given
among the alternatives below it.

181. Professor Krishna will take
as the new Principal tomorrow.
(A) off (B) over
(C) round (D) to
182. She is now married a rich
merchant.
(A) to (B) with
(C) of (D) over
183. Therewasnothing he coulddo
wait.
(A) and (B) except
(C) otherwise (D) than
184. To reach their village, they have to
change a small train at the
junction.
(A) on (B) to
(C) over (D) into
185. Ifyoullive in a corrupt society, you cannot

easily rise the prevailing
corruption.

(A) upon (B) over

(C) above (D) beyond

Choose the best way to complete these
passive voice sentences.

186. Anidea for discussion.
(A) put forward

(B) was put forward

(C) was putted forward

(D) was putting forward

g__—

00O O R

187. Our allies
(A) will be lend
(B) will be lent
(C)
(D)

support.

will been lent
will being lent

The criminal
(A)
(B)
©)
(D)

188.
were locked up
was locking up
was locked up
was lock up

189. The candle by the draught.
(A) was being blown out

(B) was blown out

(C) was blewed out

(D) was blow out

Choose the best way to complete the sentences
below :

190. He said

(A) that yesterday he gone

downtown
(B)
(©)
(D)

he goes downtown yesterday
he go downtown yesterday
he went downtown yesterday

191. He told us

(A) that he enjoy the movie
(B) he enjoyed the movie
(C) he be enjoying the movie

(D) that enjoyed the movie



Fill in the blanks in the following sentences
with the most appropriate word from among
those given in choices after each sentence.

192. The manager was forced to
the charge to the Syndicate.

(A) forgo (B) relieve
(C) give (D) relinquish

193. There seems to be an air of peace now
in our country.

(A) flowing (B) floating
(C) smelting (D) blowing

194. The two brothers look so that
it is difficult to tell one from the other.
(A) identical
(B) same
(C) similar

(D) resembling

195. In high school many of us never realised
the importance that grammar would

in later life.
(A) figure (B) portray
(C) play (D) exercise
196. His most striking is the
enthusiasm which he brings to everything
he does.
(A) factor
(B) attitude

(C) characteristic
(D) character

MKG-XXIX/GENDHMVM/1T/02
Do as Directed :

197. Identify the predicate in the given
sentence.

The river flowed swiftly.
(A) the

(B) river

(C) flowed swiftly

(D) none of these

198. Identify the compound sentence from
among the sentences given below.

(A) Joe waited for the train, but the train
was late

(B) The train was late
(C) Mary and Samantha took the bus

(D) Afterthey left on the bus, Mary and
Samantha realised that Joe was
waiting at the train station

Identify the wrongly spelt word from the
alternatives given below.

199. (A) pompous
(B) populous
(C) prejudiced
(D) pretentous

200. (A) procession
(B) passion
(C) posessiori
(D) profession
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SPACE FOR ROUGH WORK

T T & foro Tm=
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SPACE FOR ROUGH WORK
% &1d & fore wom=
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IMPORTANT INSTRUCTIONS TO CANDIDATES

sufigari & fore wevagul sEaw

13.
14.

15.

e L |

17

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen

against the question concerned in the Answer

Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is

given below.

Correct Method)

Wrong Method
Ce00

0®00

Wrong Method

O0®0O0

Wi Method
O® 0O

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
guestion. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

195.

16.

17.

18.

19.

0000 OO OO

39 gt o 40 U 2

fEw : s I e T AR FYT & 91
IR IT AU Wb HIF GIE T & | T dH o3
T et foredt T 1 g1 @ S e & HE S
< JUAT HUF B T B IR AH IT GBwH H
I MAHR @H A, B, C 31 D i e 41 Hren
Fia-uls ¥ ¥ Fel (@) F 2 | (gfeantim
Feftead & e 9 M fafus g
Hren fen <)

T e o HH 3o 39 e ek 3T

IR ford | g9 T hig TuH B iR |
Tergifera o0 =1 Tl e = foam w2 |

e atiel | e Al e Al || @d e
o). Jole] (el lo)e] (elOXe)e] (o NoXe)

Fregefi 1 T I A Hi =R % I
fafea st =nfeu |

eI Y F1 hael U € HEl IO 8 | AT
Tyfa wiem 39T A, B, C 91 D & MR @
=l e (@) HET R | 3fE 3y ety % anA
T A P Mesr T@H F 90T (@) T 3TH
I T HHET TRAT |

afe foreht wo % fa=dt @ 3Esh e # #€
3R 2t 3sh sraTe H T guen SR |

Fed H1d & fo1e Hhaew ¥99 93 ¥ fou 1 o 5
T H | I IR W Hed HHE A R

30 Yfeereht 3 31t AUt IR ifeha TEH F ¢ |
I HTA IW IS A A G

Go through instructions given in Page No. 1 (Facing Page)
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